
ITEM DESCRİPTION Q'TY

1 M16 x 100 AA 4

2 M16 NUT 4

Mittelgestell Chicago Gigant XXL 1950 x 750 x 80 x 80

3 M8 x 25 AA 16

4
M8 SERRATED 

WASHER
16

5
BİNGO FOOT       

M8 x 25
4

USE THE WRENCH


